
2

3/4"x 4" STUDS 
@ 24" O.C.

2-12(1/4)

8" TALL HSS

EDGE PL

EA SIDE
2-12(1/4)

2-121/4

SOSD W/ LEDGER ANGLE

G

18" MAX
(4) 7/8" A325 
BOLTS @ 3" SPCG

(2) PL1/2x12x1'-4"

1/4

HSS PER PLAN

NEOPRENE PAD

HSS STUB TO 
MATCH HSS BM

STUB TO WF
1/4

WF COL

G

HSS PER PLAN

(3) SIDES
1/4

L5x3x3/8x6" TYP

(2) 7/8" A325 BOLTS 
@ 3" SPCG

1"

(3) SIDES
1/4

2 ROWS OF (2) 7/8" 
A325 BOLTS @ 8" SPCG

(2) PL1/2x14x1'-6"

T/B FL
1/4

WF PER PLAN

NEOPRENE PAD

3 SIDES, PL
TO WF5/16

WF COL

HSS8X6X1/2

1/4

PL1/2 @ STUB T/B

3/8

EA SIDE
(3/8)

18" MAX

H

WT3x10 FOR 
DECK SUPT

3/4"x 4" STUDS 
@ 24" O.C.

2-12

2-12

1/4

1/4

2-12(1/4)

8" TALL HSS

EDGE PL

EA SIDE
2-12(1/4)

2-121/4

EXPOSED WF

SOSD WITH LEDGER ANGLE

G

HSS PER PLAN

EA SIDE
(5/16)

EA SIDE
5/16

EA SIDE
(5/16)

EA SIDE
3/8

HSS PER PLAN

1/4

L5x3x3/8x6" TYP

(2) 7/8" A325 BOLTS 
@ 3" SPCG

(3) SIDES
1/4

CAP PL/12

1"

L5x3x3/8x6" TYP

HSS PER PLAN

(2) 7/8" A325 
BOLTS @ 3" SPCG

CAP PL1/2

1/4

(3) SIDES
1/4

3/8

HSS PER PLAN 8" CONC WALL

4 ROWS OF (4) #5 CROSSTIES 
@ 6" O.C.

EMBED PL1/2x16x1'-4" 
W/ (9) 7/8" ø x 6" STUDS

(2) SIDES
1/4

2"2"

1/2"

1 
1/

2"
3"

1 
1/

2"

CONC SW

TYP PL TO
HSS POST1/4

TYP
1/4

1/4

TYP
1/4

(1/4)

TYP PL TO
HSS BM3-12

3-12

(3/16)

(3/16)

ADD (2) #6 x         @ 10"

EMBED PL1/2x12x1'-0" 
W/ (4) 1/2"ø x 8" STUDS

2"
3"

2"

4'-0"

PL5/16x5x0'-7" ES 
W/ (2) 7/8"ø A325 THRU-BOLTS

PL1/4x4 1/2 ES 
W/ (2) 7/8" ø A325 
THRU-BOLTS

PL1/2

1"

PER PLAN

TOP OF STEEL

INCOMING BM NOT SHOWN 
FOR CLARITY; CONN TO POST 
SIM AS PERP BM

2" TYP

HSS BM PER PLAN

TYP PL TO
HSS BM 3-12

3-12

(3/16)

(3/16)

L3x3x1/4 CONT

1"

PER PLAN

TOP OF STEEL

PL1/2

ROOF DECK; 
ORIENTATION 
VARIES

4-83/16

3"
 O

C

T
Y

P

1 
1/

2"

1'-0" 1'-3"

1/2"
2"
2"

CAP PL1/4

DECK NOT SHOWN 
FOR CLARITY

NS&FS
1/4

SEAL

(1/4)

CJP

1/4

1/4

PL5/16x4 1/2x1'-0" 
W/ (4) 7/8"ø A325 BOLTS

CONC PLINTH; 
REINF NOT SHOWN 
FOR CLARITY

(3) #6 @ 5" W/ TERMINATOR; 
ALIGN WITH BOTTOM 
FLANGE OF WF BM

(4) #8 @ 5" W/ TERMINATOR; 
ALIGN WITH TOP 
FLANGE OF WF BM

WELDABLE LENTON 
C3J COUPLER, TYP.  
WELD SIZE TO DEVELOP 125% 
OF BAR YIELD CAPACITY

EMBED PL1x18x2'-0"

2"

S

19

18

T

HSS6x6x3/8

HSS6x6x3/8H
S

S
6x

4x
3/

8

H
S

S
6x

4x
3/

8 MECH EQUIP
SHOWN DASHED

HSS HGR TO
SLAB ABOVE

NOTE 2NOTE 2

N
O

T
E

 2
N

O
T

E
 2

NOTES:

1. TOP OF STEEL IS AT ELEVATION 8353'-8".

2. GENERAL CONTRACTOR TO COORDINATE ALL DIMENSIONS WITH MEP 
EQUIPMENT SUPPLIER

14

S6.01

3

S4.16

SIM

2"2"

HGR
CL

EMBED PL1/2x12x1'-0"
W/ (4) 5/8" ø x 6" STUDS
@ 8" GA SPCG

SEAL

1/4

CAP PL1/4

HSS HGRNS & FS
1/4

12385783-2203

DAVID FIELDS
C.

p
ro

je
c
t:

principal architect

project manager

drawn by

checked by

job no.

date

date

revisions:

byno.

Reserved for permit stamp

05/17/2024

TOWER A & B
STEEL SECTIONS
AND DETAILS

S6.01

S
O

M
M

E
T

 B
L

A
N

C
 -

A
B

C
D

E
E

R
 V

A
L
L
E

Y
, 

U
T

A
H

20052

05/17/2024

IFC SET 2 OF 3

3/4" = 1'-0"6
SECTION

3/4" = 1'-0"3
SECTION

3/4" = 1'-0"7
SECTION

3/4" = 1'-0"4
SECTION

3/4" = 1'-0"1
SECTION

3/4" = 1'-0"2
SECTION

3/4" = 1'-0"8
SECTION

3/4" = 1'-0"9
SECTION

3/4" = 1'-0"10
SECTION

3/4" = 1'-0"20
SECTION

3/4" = 1'-0"19
SECTION

3/4" = 1'-0"15
SECTION

1/8" = 1'-0"18
PARTIAL PLAN - TOWER B MEP EQUIPMENT

1 1/2" = 1'-0"14
SECTION

4

4

44

2 7/26/2024 ASI-002

4 01/07/2025 ASI-006


